

Project Name: 2024 SLP 85TH AVENUE/SANBURNOL DRIVE, ELM DRIVE, AND 83RD AVENUE IMPROVEMENTS

I hereby certify that this is an exact reproduction of bids received.

City Project No.: Stantec Project No.: 193806347

Bid Opening: Tuesday, January 30, 2024 at 11:00 AM CST Owner: Spring Lake Park, Minnesota

Pihl Gravel, P.E. License No. 19864

Bidder No. 1 Bidder No. 2 Bidder No. 3 Bidder No. 4

BID TABULATION			North Valley ,Inc.		Park Construction Company		Northwest Asphalt, Inc.		Asphalt Surface Tehonologies Corp.		
ltem Num	Item	Units	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	BASE BID:										
1	MOBILIZATION	LUMP SUM	1	\$39,120.85	\$39,120.85	\$99,200.00	\$99,200.00	\$51,875.00	\$51,875.00	\$45,000.00	\$45,000.00
2	REMOVE CASTING	EACH	2	\$212.90	\$425.80	\$236.00	\$472.00	\$250.00	\$500.00	\$275.00	\$550.00
3	REMOVE DRAINAGE STRUCTURE	EACH	6	\$632.93	\$3,797.58	\$956.00	\$5,736.00	\$750.00	\$4,500.00	\$429.00	\$2,574.00
4	SALVAGE SIGN TYPE C	EACH	1	\$43.05	\$43.05	\$40.60	\$40.60	\$44.00	\$44.00	\$44.00	\$44.00
5	SALVAGE SIGN TYPE SPECIAL	EACH	3	\$64.57	\$193.71	\$60.90	\$182.70	\$66.00	\$198.00	\$66.00	\$198.00
6	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LIN FT	108	\$8.61	\$929.88	\$8.25	\$891.00	\$5.00	\$540.00	\$4.00	\$432.00
7	SAWING BIT PAVEMENT (FULL DEPTH)	LIN FT	745.15	\$4.84	\$3,606.53	\$3.10	\$2,309.97	\$3.00	\$2,235.45	\$3.50	\$2,608.03
8	REMOVE SEWER PIPE (STORM)	LIN FT	54	\$17.84	\$963.36	\$31.10	\$1,679.40	\$25.00	\$1,350.00	\$11.00	\$594.00
9	REMOVE CURB & GUTTER	LIN FT	620	\$9.15	\$5,673.00	\$12.80	\$7,936.00	\$10.15	\$6,293.00	\$9.90	\$6,138.00
10	REMOVE BITUMINOUS WALK	SQ FT	71	\$3.93	\$279.03	\$16.20	\$1,150.20	\$1.58	\$112.18	\$8.80	\$624.80
11	REMOVE CONCRETE SIDEWALK	SQ FT	2877	\$4.31	\$12,399.87	\$1.40	\$4,027.80	\$2.10	\$6,041.70	\$3.30	\$9,494.10
12	REMOVE BITUMINOUS PAVEMENT	SQ FT	991	\$2.53	\$2,507.23	\$1.95	\$1,932.45	\$2.93	\$2,903.63	\$3.30	\$3,270.30
13	REMOVE CONCRETE VALLEY GUTTER	SQ FT	736	\$15.07	\$11,091.52	\$1.55	\$1,140.80	\$3.72	\$2,737.92	\$4.40	\$3,238.40
14	EXCAVATION - COMMON (P)	CU YD	2505	\$24.79	\$62,098.95	\$21.30	\$53,356.50	\$35.30	\$88,426.50	\$25.85	\$64,754.25
15	EXCAVATION - SUBGRADE	CU YD	222	\$19.37	\$4,300.14	\$25.50	\$5,661.00	\$29.27	\$6,497.94	\$36.30	\$8,058.60
16	SELECT GRANULAR EMBANKMENT (CV)	CU YD	222	\$8.61	\$1,911.42	\$41.60	\$9,235.20	\$34.05	\$7,559.10	\$15.95	\$3,540.90
17	AGGREGATE BASE (CV) CLASS 5 (P)	CU YD	3559	\$12.31	\$43,811.29	\$0.01	\$35.59	\$21.40	\$76,162.60	\$21.56	\$76,732.04
18	FULL DEPTH RECLAMATION (P)	SQ YD	12988	\$4.41	\$57,277.08	\$3.85	\$50,003.80	\$2.15	\$27,924.20	\$2.53	\$32,859.64
19	BITUMINOUS PATCH SPECIAL	SQ FT	1474	\$6.19	\$9,124.06	\$5.30	\$7,812.20	\$7.34	\$10,819.16	\$8.03	\$11,836.22
20	MILL BITUMINOUS SURFACE (2.5")	SQ YD	3900	\$1.72	\$6,708.00	\$2.55	\$9,945.00	\$2.18	\$8,502.00	\$2.86	\$11,154.00
21	TYPE SP 9.5 WEARING COURSE MIX (3,C)	TON	1924	\$95.56	\$183,857.44	\$95.70	\$184,126.80	\$96.61	\$185,877.64	\$102.19	\$196,613.56
22	TYPE SP 12.5 WEARING COURSE MIX (3,C)	TON	1743	\$89.31	\$155,667.33	\$92.20	\$160,704.60	\$91.72	\$159,867.96	\$96.85	\$168,809.55
23	TYPE SP 12.5 NON WEAR COURSE MIX (3,C)	TON	1743	\$87.98	\$153,349.14	\$90.80	\$158,264.40	\$91.66	\$159,763.38	\$94.60	\$164,887.80
24	12" RC PIPE SEWER DES 3006 CL V	LIN FT	819	\$60.42	\$49,483.98	\$65.50	\$53,644.50	\$60.12	\$49,238.28	\$60.50	\$49,549.50
25	15" RC PIPE SEWER DES 3006 CL V	LIN FT	8	\$67.90	\$543.20	\$139.00	\$1,112.00	\$70.17	\$561.36	\$242.00	\$1,936.00
26	CONNECT TO EXISTING STORM SEWER	EACH	7	\$1,122.01	\$7,854.07	\$1,610.00	\$11,270.00	\$1,000.00	\$7,000.00	\$393.80	\$2,756.60
27	CONNECT INTO EXISTING DRAINAGE STRUCTURE	EACH	1	\$1,588.07	\$1,588.07	\$2,020.00	\$2,020.00	\$1,250.00	\$1,250.00	\$393.80	\$393.80
28	ADJUST VALVE BOX	EACH	10	\$541.36	\$5,413.60	\$558.00	\$5,580.00	\$577.50	\$5,775.00	\$550.00	\$5,500.00
29	CONST DRAINAGE STRUCTURE DESIGN SPECIAL	EACH	8	\$2,054.14	\$16,433.12	\$2,820.00	\$22,560.00	\$1,704.00	\$13,632.00	\$3,300.00	\$26,400.00
30	CONST DRAINAGE STRUCTURE DESIGN SPEC 1	EACH	10	\$2,399.37	\$23,993.70	\$4,700.00	\$47,000.00	\$2,688.86	\$26,888.60	\$3,850.00	\$38,500.00
31	CASTING ASSEMBLY	EACH	20	\$1,076.27	\$21,525.40	\$922.00	\$18,440.00	\$1,250.00	\$25,000.00	\$1,650.00	\$33,000.00
32	ADJUST FRAME & RING CASTING	EACH	25	\$1,178.51	\$29,462.75	\$886.00	\$22,150.00	\$1,193.00	\$29,825.00	\$990.00	\$24,750.00
33	CORE DRILLED HOLE	EACH	1	\$2,134.69	\$2,134.69	\$2,110.00	\$2,110.00	\$1,250.00	\$1,250.00	\$880.00	\$880.00
34	4" CONCRETE WALK	SQ FT	2878	\$7.00	\$20,146.00	\$6.75	\$19,426.50	\$8.80	\$25,326.40	\$7.15	\$20,577.70
35	6" CONCRETE WALK	SQ FT	1258	\$16.14	\$20,304.12	\$7.95	\$10,001.10	\$17.60	\$22,140.80	\$16.50	\$20,757.00
36	CONCRETE CURB & GUTTER DESIGN B618	LIN FT	620	\$37.13	\$23,020.60	\$30.80	\$19,096.00	\$35.20	\$21,824.00	\$38.50	\$23,870.00

				Bidder No. 1		Bidder No. 2		Bidder No. 3		Bidder No. 4	
	BID TABULATION			North Valley ,Inc.		Park Construction Company		Northwest Asphalt, Inc.		Asphalt Surface Tehonologies Corp.	
ltem Num	ltem	Units	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
37	7" CONCRETE VALLEY GUTTER	SQ YD	99	\$87.18	\$8,630.82	\$106.00	\$10,494.00	\$137.50	\$13,612.50	\$89.10	\$8,820.90
38	TRUNCATED DOMES	SQ FT	183	\$75.34	\$13,787.22	\$97.90	\$17,915.70	\$55.00	\$10,065.00	\$77.00	\$14,091.00
39	TRAFFIC CONTROL	LUMP SUM	1	\$10,224.55	\$10,224.55	\$9,640.00	\$9,640.00	\$10,450.00	\$10,450.00	\$10,450.00	\$10,450.00
40	INSTALL SIGN TYPE C	EACH	1	\$215.25	\$215.25	\$203.00	\$203.00	\$220.00	\$220.00	\$220.00	\$220.00
41	INSTALL SIGN TYPE SPECIAL	EACH	3	\$457.41	\$1,372.23	\$431.00	\$1,293.00	\$467.50	\$1,402.50	\$467.50	\$1,402.50
42	EROSION CONTROL	LUMP SUM	1	\$10,277.29	\$10,277.29	\$8,180.00	\$8,180.00	\$17,600.00	\$17,600.00	\$7,480.00	\$7,480.00
43	PERMANENT RESTORATION	SQ YD	713	\$13.43	\$9,575.59	\$14.90	\$10,623.70	\$18.00	\$12,834.00	\$15.40	\$10,980.20
44	4" SOLID LINE MULTI COMP	LIN FT	547	\$0.59	\$322.73	\$0.61	\$333.67	\$0.55	\$300.85	\$0.55	\$300.85
45	24" SOLID LINE MULTI COMP	LIN FT	298	\$11.83	\$3,525.34	\$7.10	\$2,115.80	\$11.02	\$3,283.96	\$11.00	\$3,278.00
46	4" DBLE SOLID LINE MULTI COMP	LIN FT	4622	\$1.18	\$5,453.96	\$1.20	\$5,546.40	\$1.10	\$5,084.20	\$1.10	\$5,084.20
47	CROSSWALK MULTI COMP	SQ FT	696	\$5.84	\$4,064.64	\$6.50	\$4,524.00	\$5.45	\$3,793.20	\$5.50	\$3,828.00
	TOTAL BASE BID				\$1,048,489.18	_	\$1,071,123.38		\$1,119,089.01	_	\$1,128,818.44
	Contractor Name and Address:		,··		Park Construction Company 1481 81st. Ave. NE		Northwest Asphalt 1451 Stagecoach Rd.		Aspnair Surrace Technologies Corporation alk/a ASTECH ASTECH		
				Nowthen, MN 55330		Minneapolis, MN 55432		Shakopee, MN		St. Joseph, MN 56374	
	Phone:			(763) 274-2580		(763) 786-9800		(952) 445-1003		(320) 363-8500	
	Email:			paula@northvall	paula@northvalleyinc.net		cborene@parkconstructionco.c		alt.net	lanceastech@yahoo.com	
	Signed By:			Leslie A. Bloom		Charlie Borene		Lance Guentzel		Dale R. Strandberg	
	Title:			President		Vice President		PM		Vice President	
		Bid	Security:	Bid Bond		Bid Bond		Bid Bond		Bid Bond	
Addenda Acknowledged:			vledged:	1,2		1,2		1,2		1,2	



				Bidder No. 5		Bidder No. 6		Bidder No. 7		Bidder No. 8	
	BID TABULATION			Valley Paving, Inc.		S.M. Hentges & Sons, Inc.		Forest Lake Contracting, Inc.		Bituminous Roadways, Inc.	
ltem Num	ltem	Units	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
•	BASE BID:										
1	MOBILIZATION	LUMP SUM	1	\$60,000.00	\$60,000.00	\$59,000.00	\$59,000.00	\$60,000.00	\$60,000.00	\$170,000.00	\$170,000.00
2	REMOVE CASTING	EACH	2	\$210.00	\$420.00	\$185.00	\$370.00	\$400.00	\$800.00	\$225.00	\$450.00
3	REMOVE DRAINAGE STRUCTURE	EACH	6	\$600.00	\$3,600.00	\$660.00	\$3,960.00	\$700.00	\$4,200.00	\$515.00	\$3,090.00
4	SALVAGE SIGN TYPE C	EACH	1	\$42.00	\$42.00	\$43.00	\$43.00	\$40.00	\$40.00	\$42.00	\$42.00
5	SALVAGE SIGN TYPE SPECIAL	EACH	3	\$63.00	\$189.00	\$65.00	\$195.00	\$60.00	\$180.00	\$62.00	\$186.00
6	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LIN FT	108	\$4.50	\$486.00	\$5.40	\$583.20	\$6.00	\$648.00	\$5.20	\$561.60
7	SAWING BIT PAVEMENT (FULL DEPTH)	LIN FT	745.15	\$2.50	\$1,862.88	\$2.70	\$2,011.91	\$3.00	\$2,235.45	\$2.00	\$1,490.30
8	REMOVE SEWER PIPE (STORM)	LIN FT	54	\$20.00	\$1,080.00	\$40.00	\$2,160.00	\$12.00	\$648.00	\$18.00	\$972.00
9	REMOVE CURB & GUTTER	LIN FT	620	\$3.00	\$1,860.00	\$7.25	\$4,495.00	\$15.00	\$9,300.00	\$12.00	\$7,440.00
10	REMOVE BITUMINOUS WALK	SQ FT	71	\$10.00	\$710.00	\$2.50	\$177.50	\$6.00	\$426.00	\$10.00	\$710.00
11	REMOVE CONCRETE SIDEWALK	SQ FT	2877	\$1.20	\$3,452.40	\$1.30	\$3,740.10	\$2.00	\$5,754.00	\$2.50	\$7,192.50
12	REMOVE BITUMINOUS PAVEMENT	SQ FT	991	\$2.00	\$1,982.00	\$2.00	\$1,982.00	\$2.00	\$1,982.00	\$4.50	\$4,459.50
13	REMOVE CONCRETE VALLEY GUTTER	SQ FT	736	\$2.00	\$1,472.00	\$2.20	\$1,619.20	\$4.00	\$2,944.00	\$4.50	\$3,312.00
14	EXCAVATION - COMMON (P)	CU YD	2505	\$30.00	\$75,150.00	\$34.75	\$87,048.75	\$35.00	\$87,675.00	\$65.00	\$162,825.00
15	EXCAVATION - SUBGRADE	CU YD	222	\$32.00	\$7,104.00	\$34.00	\$7,548.00	\$43.00	\$9,546.00	\$65.00	\$14,430.00
16	SELECT GRANULAR EMBANKMENT (CV)	CU YD	222	\$19.00	\$4,218.00	\$38.50	\$8,547.00	\$40.00	\$8,880.00	\$65.00	\$14,430.00
17	AGGREGATE BASE (CV) CLASS 5 (P)	CU YD	3559	\$11.60	\$41,284.40	\$25.00	\$88,975.00	\$40.00	\$142,360.00	\$85.00	\$302,515.00
18	FULL DEPTH RECLAMATION (P)	SQ YD	12988	\$2.75	\$35,717.00	\$3.90	\$50,653.20	\$3.00	\$38,964.00	\$4.00	\$51,952.00
19	BITUMINOUS PATCH SPECIAL	SQ FT	1474	\$5.00	\$7,370.00	\$4.50	\$6,633.00	\$8.00	\$11,792.00	\$6.00	\$8,844.00
20	MILL BITUMINOUS SURFACE (2.5")	SQ YD	3900	\$3.00	\$11,700.00	\$2.40	\$9,360.00	\$2.00	\$7,800.00	\$5.00	\$19,500.00
21	TYPE SP 9.5 WEARING COURSE MIX (3,C)	TON	1924	\$109.00	\$209,716.00	\$102.00	\$196,248.00	\$96.00	\$184,704.00	\$100.00	\$192,400.00
22	TYPE SP 12.5 WEARING COURSE MIX (3,C)	TON	1743	\$101.00	\$176,043.00	\$98.00	\$170,814.00	\$90.00	\$156,870.00	\$95.00	\$165,585.00
23	TYPE SP 12.5 NON WEAR COURSE MIX (3,C)	TON	1743	\$100.00	\$174,300.00	\$96.00	\$167,328.00	\$88.00	\$153,384.00	\$80.00	\$139,440.00
24	12" RC PIPE SEWER DES 3006 CL V	LIN FT	819	\$67.00	\$54,873.00	\$65.00	\$53,235.00	\$75.00	\$61,425.00	\$94.00	\$76,986.00
25	15" RC PIPE SEWER DES 3006 CL V	LIN FT	8	\$139.00	\$1,112.00	\$98.00	\$784.00	\$100.00	\$800.00	\$100.00	\$800.00
26	CONNECT TO EXISTING STORM SEWER	EACH	7	\$950.00	\$6,650.00	\$485.00	\$3,395.00	\$1,200.00	\$8,400.00	\$980.00	\$6,860.00
27	CONNECT INTO EXISTING DRAINAGE STRUCTURE	EACH	1	\$1,150.00	\$1,150.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,240.00	\$1,240.00
28	ADJUST VALVE BOX	EACH	10	\$800.00	\$8,000.00	\$470.00	\$4,700.00	\$500.00	\$5,000.00	\$575.00	\$5,750.00
29	CONST DRAINAGE STRUCTURE DESIGN SPECIAL	EACH	8	\$2,500.00	\$20,000.00	\$2,220.00	\$17,760.00	\$3,000.00	\$24,000.00	\$2,770.00	\$22,160.00
30	CONST DRAINAGE STRUCTURE DESIGN SPEC 1	EACH	10	\$4,200.00	\$42,000.00	\$4,500.00	\$45,000.00	\$4,400.00	\$44,000.00	\$3,960.00	\$39,600.00
31	CASTING ASSEMBLY	EACH	20	\$1,225.00	\$24,500.00	\$1,130.00	\$22,600.00	\$1,100.00	\$22,000.00	\$1,600.00	\$32,000.00
32	ADJUST FRAME & RING CASTING	EACH	25	\$1,200.00	\$30,000.00	\$775.00	\$19,375.00	\$400.00	\$10,000.00	\$1,200.00	\$30,000.00
33	CORE DRILLED HOLE	EACH	1	\$630.00	\$630.00	\$2,300.00	\$2,300.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
34	4" CONCRETE WALK	SQ FT	2878	\$6.00	\$17,268.00	\$8.00	\$23,024.00	\$9.00	\$25,902.00	\$7.00	\$20,146.00
35	6" CONCRETE WALK	SQ FT	1258	\$9.00	\$11,322.00	\$14.90	\$18,744.20	\$13.00	\$16,354.00	\$15.50	\$19,499.00
36	CONCRETE CURB & GUTTER DESIGN B618	LIN FT	620	\$56.00	\$34,720.00	\$43.75	\$27,125.00	\$26.00	\$16,120.00	\$35.50	\$22,010.00

	BID TABULATION			Valley Pavir	ng, Inc.	S.M. Hentges	& Sons, Inc.	Forest Lake Co	ntracting, Inc.	Bituminous F	oadways, Inc.
ltem Num	Item	Units	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
37	7" CONCRETE VALLEY GUTTER	SQ YD	99	\$88.00	\$8,712.00	\$109.40	\$10,830.60	\$100.00	\$9,900.00	\$83.00	\$8,217.00
38	TRUNCATED DOMES	SQ FT	183	\$55.00	\$10,065.00	\$56.00	\$10,248.00	\$95.00	\$17,385.00	\$72.00	\$13,176.00
39	TRAFFIC CONTROL	LUMP SUM	1	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00
40	INSTALL SIGN TYPE C	EACH	1	\$210.00	\$210.00	\$215.00	\$215.00	\$200.00	\$200.00	\$210.00	\$210.00
41	INSTALL SIGN TYPE SPECIAL	EACH	3	\$450.00	\$1,350.00	\$430.00	\$1,290.00	\$425.00	\$1,275.00	\$440.00	\$1,320.00
42	EROSION CONTROL	LUMP SUM	1	\$9,500.00	\$9,500.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00
43	PERMANENT RESTORATION	SQ YD	713	\$12.00	\$8,556.00	\$19.00	\$13,547.00	\$20.00	\$14,260.00	\$20.00	\$14,260.00
44	4" SOLID LINE MULTI COMP	LIN FT	547	\$1.00	\$547.00	\$0.55	\$300.85	\$1.00	\$547.00	\$0.52	\$284.44
45	24" SOLID LINE MULTI COMP	LIN FT	298	\$11.00	\$3,278.00	\$10.80	\$3,218.40	\$11.00	\$3,278.00	\$10.10	\$3,009.80
46	4" DBLE SOLID LINE MULTI COMP	LIN FT	4622	\$1.50	\$6,933.00	\$1.10	\$5,084.20	\$1.00	\$4,622.00	\$1.05	\$4,853.10
47	CROSSWALK MULTI COMP	SQ FT	696	\$5.20	\$3,619.20	\$5.35	\$3,723.60	\$5.00	\$3,480.00	\$5.05	\$3,514.80
	TOTAL BASE BID				\$1,134,753.88		\$1,188,491.71		\$1,218,080.45	<u> </u>	\$1,623,523.04
	Contractor Name and Address:			Valley Paving, Inc.		S.M. Hentges and Sons, Inc.		Forest Lake Contracting, Inc.		Bituminous Roadways, Inc.	
				8800 13th Ave. East		650 Quaker Ave.		14777 Lake Drive		1520 Commerce Dr.	
				Shakopee, MN 55379		Jordan, MN 55342		Forest Lake, MN 55025		Mendota Height, MN 55120	
	Phone:			(952) 445-8615		(952) 492-5700		(651) 464-4500		(651) 686-7001	
Email:			brent@valleypaving.com		estimating@smhentges.com		bob@forestlakecontracting.co		or estimating@bitroads.com		
Signed By:			Brent A. Carron		Nathan Hentges		Robert D. Vollhaber		Pam Hague		
Title:			President		Executive Vice President		President		Secretary		
		Bid	Security:	Bid Bond		Bid Bond		Bid Bond		Bid Bond	
Addenda Acknowledged			1,2		1,2		1,2		1,2		

Bidder No. 6

Bidder No. 7

Bidder No. 8

Bidder No. 5